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It is understood according to the — 912 Jnyw= 97> 12505 J22 RMADW2
Rabonon, for it is written; ‘commensurate with his wickedness’, etc.

OVERVIEW

The mwn cited a dispute between n"7 and the 7127 regarding 1T 2°7Y who
testified (falsely) that someone owes money to his friend. »"7 maintains that the
Tt 027Y receive mpon (for lying and transgressing the 1R of 71vn X2) and the o7
7T must also pay the alleged borrower the money they testified that he owes (to
fulfill the rule of ont 7WwXD). »" supports his ruling by stating >7°% X°2n7 oW KW
PALwN 7R an Mon. The 13127 maintain that 5w PR PR, so the PamT ooy
only need to pay but they do not receive mp . Our X723 states that we understand
the reasoning of the j127 (since it states 1YW >73), however the position of »"
needs an explanation. md01n clarifies why indeed it is understood according to the
71127 and not according to n"1.

Moo responds to an anticipated difficulty:’
- (ow1 3,25 97 M2IN33 ‘NNt 1999 9210 N YW N

And this wickedness (the nnX 7ywa which you are 12»n») is intended to mean

money, as is evident in M21n> No¥M. This explains the view of the 1127 -
=INYYI 712 22N NN RIRE NNIYY INI NN 229 NIN

However (continues the &713), ‘what is the reason of »''%’; the explanation of

this question is; since it is written YnYw= 575 -
— 99991 129011 NN NNN DYV DIVN YIUNT

Which indicates that you hold him liable for one nyw=, etc. but own 12 A0 X
nwwA '3, so how can n"1 maintains 7°n7wm 21972!

mooIn asks (on the s'XM3 question):

13,73 (X¥n) o127 reads; 199732 INYYN °79 1°397 127 VR 279 YWIT NiaT 12 OR ).

% See previous Mo (on P17 1"7 8,7) for a full explanation of his reasoning.

? Granted that from the words 1Ny >75 we can derive that NTYWA *Nw DWH 1™ AN XY PAN ANK NAR TYw7 DWwn
(we can punish him only once, but not twice), but how do we know which of the two punishments to give to the 07
7" perhaps it is nMpo», but not 11mn. [Additionally that 109 is discussing NP (see footnote # 1 [ 1719 y12m]), it
would seem that the 1211 279 receive only nipon.]

* See (also) 3 7"7 R,7 *"w1. The X3 there derives it from the fact that after the 770 writes (in v°,v> [2vOWw] *27)
regarding 1m0y that ant WK Y2 anw, the 7710 continues (in X2 P109) stating 72 7 "3 72y 0inn ¥?), meaning
that it must be something which is given 7% 71 which refers to money. 117 07y must pay.

> The term w1 (usually) indicates that the understanding is not as simple as we may have initially thought. Why
does the X3 ask, "0"n n"1 R7X', when n" explained himself fully in the 7awn that 21 awn X2 (see ‘Overview’ [and
footnote # 2]). MooIn explains that regardless of the X120 that "1 own X>w, nevertheless since we have a clear VW
from 1NYWA >73 that PR%wn1 PP X that should override the 8720 of awn XYW,
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- 519 1PPIYY YD IND YD1 NN KNI 7099 INDY AN ON)
And if you will say; but what is the X713 asking, since in N2> ndon we
established this 192 of \nywn >75 (and its exclusion that NPYWA '2 D1W7 12700 R'KY)
for a case of mpv» and 7107 (but not for MpHm Pnn).

N1B0IN answers:
- PR 399 NN NXI9N 1 It 997 9999 W

And one can say; that all this (which follows) is included in the question of;

‘however, according ton''%’ -
LR PPy N9 NOYY DY DIVN 12NN NNN PRY INYYA 991D W11IY 1YY Mn

He should have expounded the 05 of wnyw=s 72, saying that you cannot
obligate him for two n1yw= whatever they are (whether n°1 mpL or 1121 MpPLR)

but not to limit the w77 (of NMPYW" "2 0Wwn» 121 R"RY) to the case of Ny PP
only.

SUMMARY

We derive that 7111 2°7¥ must pay, therefore the exclusion of 1nywA is to exclude
mpYn. This exclusion should override the reasoning of n"3. The X723 is actually
asking why »" limits the exclusion of \nywA *73 to 1N MPY» and does not also
exclude 17m nPon.

THINKING IT OVER

Does '01n mean that the s'®723 question was that n"9 should interpret the 2105 of 72
1Ny to exclude both Pm mpon and an 1 MpYn (but not only [N NPon),” or
perhaps NMo0In meant that instead of applying wnywn 72 for an ) nmphn only, he
should apply it for mm1 NP9 only?'”

% The X3 in ('21) X, M2IN3 maintains that according to 1" the v of NPYWA '2 D 12An K"K is by a case where
he was liable for mp%»1 70y, in that situation he only receives n®», but not nNp%n. However there is no 109 or w1y
to teach us that where there is a 211 of 7711 MPon that he dies not receive both.

" The oo of MYwA *73 is discussing mpn (see footnote # 3 [bracketed areal); it follows therefore that the 70
teaches that if the np%n is accompanied with any other punishment (whether 7in* or 17) so it is no longer NywA
(nnx 7YwA), but rather NPYwA *nw, the accused does not receive Mpon (but rather either 7n°m or 137 as the case may
be). See R7m 73"7 2,12 M2AND NDON.

¥ See the emendation on the margin of the 3. See “Thinking it over’.

? As it is interpreted here.

12 See TN *won XN # 93 and 94.
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